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INEQUALITIES: Quadratic Inequalities
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1 Which graph represents the solution set of the inequality x> —4x—5<07?
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2 Which graph represents the solution set of x> —x—12<07?
grap P
010318b (1 :'

L — = 3
A S 2012 3 4
(3)
4321012 3 4
D g —————
-4-3-2-101 2 3 4
3 What is the solution of the inequality x* —x—6<07?
(1) 3<x<-2 B)l<x<6
010904 2y 2 < x < 3 4 3<x<2
4 What is the solution set of the inequality x> +4x—5<07?
(1) {xlIx < —1or x> 5} 3) {x1< x <5}
HOTHEE 3y [xIx < =5 or x > 1} (@) {x5<x<1}

5 When a baseball is hit by a batter, the height of the ball, h(t), at time t, t =0, is
determined by the equation h(t) = —16t* + 64t + 4. For which interval of time is
the height of the ball greater than or equal to 52 feet?



